MITTAL COMMERCE CLASSES

CA FOUNDATION- MOCK TEST

(GCF-2,3,4,5,6, VCF-1,2, VDCF-1,2 & SCF-1,2)
DATE: 06.10.2021 MAXIMUM MARKS: 100 TIMING: 3 Hours

BUSINESS LAW & BUSINESS CORRESPONDENCE & REPORTING

Question No. 1 is Compulsory. Answer any four question from the remaining five questions.
Wherever necessary, suitable assumptions should be made and disclosed by way of note

forming part of the answer.
Working Notes should from part of the answer.

Answer 1:

Nmmww%ﬁmwﬁwmﬁﬁwmwmmqwm'

(a)

IRIET BT B $28T W PR HRAT 2 V4T IS argaT ey &1 8idl © |
IR gae A, 1872 Bl €RT, 20 & JFAR VA gael RoTa1 3rel A1 AU [ |
T & o1 g ghfaa 9 fear o daar 8 W ergdy g 81 2

Answer:

(b)

HA B ARV BT RIGIT (Corporate Veil theory) —®H= & 0= Al A el ]

A v ggE Bl 2| R vre durfie oiRda F'd 2| 9e SRl & TTod St & Ul
eR 8 2| 9t H Bl BT Sooted dRdl B | O Aa SO fog R T8 7
FHT AAT & AR TS AAT 2 |

Case Law : Saloman V. Salomon & Co. Ltd.

HHAT 3R SRl & ALY Uh Hlcd=idb 9gl sl & | e R Ua FIER e a9
B B DB 3T T AT BT B D TAAd BT b Ul DTSR A8 &1 39 I B

IRV BT RIFTT PHad %I

Mﬁéﬂwm(w)—wﬁﬁqﬁﬁ%ﬁﬁﬁmaﬁwwqWﬂdndl

S
(1)

(2)

(3)

PO B IRAAP TR P R B RIT — I8 yar o @ forv & e )

AT 2 IT WG BH AT BRI Dl dhTd BR Hebell & |

SHR HeH1 foIffics 999 Pi<IFce SRR UUS AR Bl

39 arg # g i fear 1 & wR @ ey SR AET SO | afe S Rl
BT FRIF0 SR dTel Afdd oy ¥ & ardl 81 A1 98 g < b Hbal b AR
BRI DR BT | T8 W YRITAT HH DI IIbTg HR Fhell o |

oI B GREAT/ IR B GR&m @ oy — afe s &1 fafor R safeg fean
2| % I9 R F YA 9 g9 O G | A I A Pl 99D B Gl
gl

qIq:— Sir Dinshaw manek ji petit case

D &3 BN BT IR AT | SH AT AT ITST & W7 H BIBT M U By o | |

MGG & A 9 g9 & oY ST 4 HHFAT 9915 N1 e &1 By qaqd
T8 o7 D §9 HHAI H AR g 1ol B IR0 ARG HR e o |

T = A BT 99519 HT 3R P8l fb D BT XISIE BT YA HIAT TS |
e TRE | 99 & fog — It & &1 Y SRAvER SET 9 999 @
fog fear w21 R oHeiRal &1 999 &1 YIaE A1 aRA uS A ST
A BT ITHE B DT ¢ |

qIg— THIRACS YR SSRIY fol. @ HHaN) a9H THIRRAICS &R SSs&Id forfics
$F A A U GER—IG B 9418 | FTAH a8 AT v SfdRd #R ot | o

I HHAIRIT BT 499 GU%, TGSl 3ffa BT Y A1 AT US| I9 FE-d

{1 m}

{1 m}

{1 M}

(1 Meach)

1|Page
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A BT GE BT Bl AIAT AL AT | R 7 HHH BT B9 fhar iR Bl |
fh 3MMUDI $TH HATUIHRT UTaeT=l BT YTeld BT TS |

@) afy gerre HRE &1 A Ol @ w9 H A B - 39 AW § Srery
HFT BT IThTd B FhT ¢ |
Merchandise Transport Ltd. V British Transport commission:- U&% IMARITT HHT
U Tl & oIy ATSHd UTed AT @redl off | IRe] 98 W@ & AW | JAed Tl @
bl o | 99 B F Uh Ge—d HH-l gqTs | 3R ofrsd & forw amdeq fear|
<Jrarerd 7 ol f&an 6 gaam ok 98re HF-l M1 Ud © SR e $I E R |
e wrar |

(5) YT AT IGRIT AR B APYUM & fog— IR =Aa™ o1 $9 919 B Hag B &
FHHAT BT AT Hucyut drar fId SRV w1 & foy far T ® 99 =<marer
HHIAl BT I7bTd B AT 7 | Gilford moter Ltd. V Horne.
H S99 &1 & dHard of R W ufady o f& 98 $7+ Bl @ 918 &7+l &
YTEHT BT &I ASAT| H - HH & YS! BT e & oY b HH1 918 |
Wﬁﬁ%H@?WWW@?IﬁWHW&W@(@ﬁ%
AW ) | TR B Fhal B |

Answer:
(c) TP URIER ® 9N $ U -1 9l A aRal @ AWBR (Rights of transfree
of a partner’s share) (8IRT 29) —
1. SRS & I8 JIRHR 8 & fF —
(a) 98 IR H § SWET FX <,
(b) f&re & AT &,
(c) B4 & §BI W1l BT AeTor o | H{1 M}
M~ Badd BRG] DA dlel ARER B U B AT B U B BT ATPR B
IR g8 a™ e foR o9 |RIeRT o W8Ald 41 &, 99 WIGR HRAT TS, Ui a8
fEaTa—fdhdTd &I gAR T8l § Fape |
2. B & fTeT BN W AT W SRR B A WRER @ o[BI TEOT B W |
FXATIRAT Bl 3T ATSGRI B 3Uel —
(i) B9 @ FHEIT & SH 9N BT U HR BT ATBR B, T IR SRl dRA

qrel ATEIER &7 JRBR o7 3R am
(i) ST 91T BT O & ford fages &1 fafy & fRae fhae @) 47T &1 ifer 81|
e —
1. IEER & 99 U fagay w emeRa 8, sdiforw Ra &1 swaaRd ClNﬂIdfb-
WEER & {4 ANGR g YEifeR U T8 &R Fhdl, 98 ddd sR<RuGdl &
AT BT UT B BT ARABR 2 |
2. 98 BWIRAT BH PT AISIGR A8 8Idl, SV 98 BH d 3T WASIGRI Bl a1 78!
FR AT | i

3. Ife IR gRT IHSiar oxe fhddl T ARER BT BY # IR fhar ST Adhdr g,
TSGR Bl AU~ fhar o1 Ahdr § v Refa # 596 Rt 9 9 IReR 92y
Hull

4. I TH ARER MUY UM R HA o IR &7 M~ &) 96, a9 98 SAD |
AT B e BRATRYT 7§ fA9g # 0 W—AERl Bl e < & uvEr wH |
& 5l B B R SRS A& BN Ug aRdd ¥ SIS IABII—UgY ey o | &M
A B |
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Answer 2:

(a) oy @ faRmsar &1 g — Jafl IRA™ srgdy Iff M, 1872 & oria fell wwsid
% fou ufdwe fH g veTdR gRT AT S Gobdl &, offdbd Jad ueTdR d9sid IR e
URGA T8l B A | hacl IEY BT UTHR Afdd & aTg URGd B Al | 39 & Ia
@1 faRrsar &1 RigT< ®ed 2|
o RIgra” FEAdl © I ds AUarel 9 W I 2| SN ARl H, JEf db [ orjdy & ufd
JASTE! Yeh A 7 Al H [ T/ DI a1 BRI Fhell o—

(1) 999 @ RIfT H, v Rauraeal U=md 4 ISR &I AN R Fadl ©, Sididb a8
MUeaal de I=aTdl & AL g HI Udh YeThR W1 el o7 |

(2) uRaR® fAuer @1 Rufq # afy fAyem @ ot fofRad w9 # € @ oRarR & v
ST Hifd w9 ¥ MUCR & UedR 81 8, FHSI Bl Ya<i«ig BRI AD I |

(3) faRme faarg srdyl #, e Afte Ae afawiioid gRIR & favo W Jarfzes =t
BT FARATH] AT B D ¢ |

(4) FFeY & GAYY (FXICRON) & AWl H, 59 bl e & A=<ia o™ SRICRl fdhar
TAT BT AT BTN S BT TaHI BT Fhall ¢ |

(5) <IIQ@ & WeHR IR TAERR & AW § I7 I9@! Ji¥ie ey # g o9 a1
SR & WIHR HRAT 8l | SRV & oIy ‘T’ TH DI 2,000 ®R TA' B & &
forg ar 21 A T @ G a1 § 6 {9 gy AR @ I@r gen € Wy 91w H
T Iad AR <71 A 7 R <A1 2 Al TAIE AR A o @ foy guie: aifdad 2

(6) fH 9arht uf% & wrtel ® S fdd YR @1 39 I & T I Rl 2 B A @
R A & WA BT UAIfaT R dTel 8 SIRIcdl 9 ST 8ol & ar Ul 99T ¥y
W fIdr & SRISN gRT Ya<i-1a HRIAT ST Febell © |

(7) TP AMWEal gN 6 T ey — Al oue Aifiedl g1 fBY T srgeei @
Y BT FHdT 2 Sfal Afddl 4 U AfER—&F o A\ § wE fear g a
ATe N & A9 H fHar 2 _

{1m}

{1 M for each correct 6 points}

Answer:
(b) o ey ARFTH $ arRT 24 & JFAR O, DIs 9g bl B [T A1 IO S MR |
R & W) 8 dF faea = gemen o 719 forar Sirar ®
(1) WW@WMW%%| L {3 M}

@) I Sy w9 9 9M @ 91€ W) A1 g9 AT dlel |

(3) AT BRI PR Sl gg <Al 81, S99 Hldl WeR R o 8 oy AR, e
e | ]

IRIGT AHA H SR = ST 81 dR 31 09 df FRAY Y, 98 dRP Alfeid 99 T AR 379 )

T R IfIg & 7T Fhal, Blelie N BT JIRPR & 5 98 dR B HHd e I urd (2 M}

&

Gl
Answer 3:
(a) I e o fae A em 1930 &1 ORT 27 & Hefd B |
ST AR & ATUIRS Yole—
(a) AT 999 B oIy, {1 ™M}

(b) e T¥iEd & forg,

(c) ¥ W &9 e & fofg

JAf&Rd BIAT & | Yole A WRIG IR $dl Bl Je6T Aed U swnw%ﬁw%ﬁtg\ﬁﬁ:}
(@) Ui WM &l A 9 AT IR Heoll 79,
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(b)
()
(d)

Uole AT & AR URETeT ¥ JTd 6l 99,
ST Aefavard H @I {am}
PAl B Toie @ Al 7 997 © APR & G H BIs BRI AT 8T |

WWﬁJ,AﬁWWWWHﬁWW%‘I}HM}

Answer:
ARIRIRAT & YHR (KINDS OF PARTNERSHIP)
afaRad o AR @ A< YeRI B Fad BT 8:—
PN & A= yeR & S fear S &1 8-

(b)

Answer 4:

(a)

1.

IR & 9T 7 @ IER WRee AR e W aEEN § Se-

1. RN 31 3y & forg forefl Rer erafy & forw weafay =&t g8 &, don

2. AREN & FURT @ Uiy P yrauE T8 99T 1 21 9 QM Adl B Uh
Wfeed AEERI & w9 § 998 IF & oY U AEERl & 9dK $A1 a1y |
Jfh S8l ARERl @ 19 Ud SeXd & I d 9RRer @ @ & forw =
e & U & fog, a1 ARER Wiked AEer T8 8nf |
ST TP ARIEN Udh g Ay & for 991 dem U1 afyy diaq & §1g W e
B O SHB! Uh Wiod AEen & w9 § qM1 S 9y |
TH Wfeed ARERI & fodl AERR gRT 9ATd fHar ST 96dT § BH & 9
PR B T U WIgHT T Al ASeRT @l foRad # Aifew <av |

s fAd afy & I |y (Partnership for a Fixed Period) — STal TSI @) 3fafey |

& oY o/ jdy gRT FaRAT &I Wl © Al AeiaR) b ReR 3rafey drell Arsianl’ wal
SIAT 21 U8 Uh U AEIER) 2 S 99y @ U Iafy Ry & forw semr T 2
T T ArEier fRad rafd & diaq IR a8 ol ©

Ry TSR (Particular Partnership) — T ATSIGRT &I Tdh UHTd! SUBH B G B
@ fore g |1 & |ad FI9 & IRt & v |afad fhar S dddar g1 oTer
e e fhdl Sued IRy # a1 WReH # Us AeeR 991 @ fhdl Suew an
TR faey #, 7 AEer) & faey AEeR); HET ST § |

TP ARIERI Sl Uh UHTH! SUBH IT HRIGH & v 9918 T8 =, ol sexd &l o
R, I9 IUGA AT HIIFH BT Yoidl §RT FATT T Sh 2 |

AHI AISIERT (General Partnership) — STl Ud HIEIGRNT BT AHRIT: a9 & Hee
H 9T S ® Al JE AR ARIER] BEdil 8| Ud AEer) a9y @ gem H,
Rl &1 T $dd 99 SURH fA9T IT GRATH dd & Sl 8, fb AME
AR B g9 F AT TS 2

AT SARIH 2013 BT ORT 8 & JATAR U ST IFAMPRI Iqavdl & I T8 )
ol 2| R &7 &1 Iged aifvrey, faeE, da, R, @d s@nfe & ez der
BT 3R 8 3T oM Bl AU B SGQAl Bl [ B H TINT BT | ORT 8 dTell B Bl

USIIR THI USilhd HRAT & Old TRGR 1 ISP AHd SN {HAT &1 | I8 TR Yl Ihel o
gRT 8 & UIGUTHI B Iocte (Bl & | B WRBR FfoiRad dIF sRiarf=al #- dadl a—

1.

ﬁmmﬁﬁﬁwﬁmmmzﬁmwwmﬁ:
AR S & AT Sad fdg & d P ORGR BT Bl 3 T A9 &l
Wufed B Fhdl & 3R HFAI & 91 & AN Yrsde 3far s v Sire Fdball

{12 M Each}

r{1 M}

r{1 M}

2| W ARA BT GUsH B Y Ul dw ARPR Bl Bl gAalg B S
SERNECRI :
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2.

Answer:
YaifepR 3R ATl BT ART § AP & AMHR H <R
(DISTINCTION BETWEEN RIGHT OF LIEN AND RIGHT OF STOPPAGE IN TRANSIT)

(b)

(i)

(ii)

(iii)

(iv)

Answer:

{FI STARM, 2013 & T T ol HFAl & T Tel B JG— VP AYHd Kb
T UG CHTS GRAT & | SHD! Y s (bl irar 9l ARl a1 fFqwrd (Frawre)
@1 7y, faarferaras arerar darfgfa oR iR 8T & | Sf¥f Pl SRl AT ] BT
AFYAT HFAT b Mead ARG H FED ¢ (BT 39 S~ PRAl & qAT b DI ol
TAGT AT B AHAT © | o 3, AER SN, oAfh HF-T gH9 defal W&l = 13{2 M}
{gafery V& <o ¥ ABC wigde fif. &1 iRdea AT =€l g3 | 39N B A B GRT I
ID DI STRIABIRAT BT gX(febad B TG | HHAT BT AR Dol FAYA W & FATK
BN | gfory ) wewl @ gog (@fe 5 dew) ¥ ff ABC for. &1 siRaa v =&
g3 13{2 M}

(o)

Answer 5:

(a)

ds WRGHR I AEA Wved Sl & A Tfed B &I § WWEd g B AR
Sl DI FAG W B FHdl § I AN IqaeT B B H SEHT Ao IR
AHA T W] 39 <A H Al o IR B HH B GAdTs BT SFIT awR <1
BT | _
P WRBR HOAT BT AN IGa¥I dlell fhdl 3T HF-l & AT FHHfId PR |
Ao 2 3R b HFAI 991 bl o | fora wwafr, ffer, e, wfde 9 8
Sl s WHR FERT $fl | Reg W BRIAE] R A U8 ARBR P DI
Gedrg B Sfd rgar <l | _

YAeR &1 Mg Al W fAdhar &7 AGR a9 I@ar g wafdh ATl b AFf #
RIET BT 3fef ATl WR YH: Peoll Ul BT © |
YaifpR & G H A fdhdl @ Heol H BT AR Sdfd A1 & AW H AdbA b
TR H (B) famar 7 A R Peoll AT B feAr B (@) A1 fhdl Arctargd &
91 81 (1) sl ° ATl Bl U ey fhar 21

qaifreR S0 Refy § ff Wi R o dabdr @ o9 ST fearform 78 g &1 1w’ |

AT BT AR § b BT AR T TART {Ha1 &1 Ghdr & 59 shal fearferar g wam
B
AT B AR H Jd BT IIMABR G&8f IRW BT 8 Slal GaifIdR FHd 8T 21 89

UBHR GaAiIHR o T A1l DI AR § Al BT JTHR BT IR fag 2|

()

T GRT [Gh1 & oree ¥ o] fded AR 1930 &I gRT 17 & IU—4RT (2) & |

T & AR, Uh AT ud @

(@) ROl AT UrEGHT § A & IAHY BRI,

(b) T @ U T & AT GO AT BT T PR BT U I IqAR BT |
TehTel ATl #, AW & aRT 17 @ SU-9RT (2) & Su—Ee () & W= &
garer #, Sl fiar Awa T8 B wife S 9ad & A B ATRaE 9 o

@ A (S IRAa § T @ IHY AN) 3 A & A7 6 A8 T o IR

el BT T, Afhd 58 d 3R BIS AT BT AT o7 |

5|Page
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MITTAL COMMERCECLASSES CA FOUNDATION- MOCK TEST

(i) T g1 9ol Ik avg &1 ey T & R R fBar S1ar & I8 afia o © )

b Tl AT T & TR BT @MY |
T &R sl & orgay # 9% sy =™ 1930 @1 gRT 17 H SU—oRT (2) &
WA & SR, Uh AfRd o 2
(@) TP o Joraw # T & ATHY BT,
(b) & TR & U T & W AF B T B Bl Y Iad adR BT |
(c) T w1 & A1 T F G<h BN, IT AU YR BN, S TAT DI A
TRIE TR W T8l 8N |
(i)  TchIel AT §, BT B g g AR & v #Ig fdbey Suaer & 2|
(iv) Ife SN Nar 7 arad &) o d ®U H SHB FId MaeIHhal bf fAfdw fear 87
ol v fiRRd wd @ 6 Aot faaRor & orgwu €| Afe v A€ @, o fasar @
JTRERT SEXAT ST |

Answer:

(b)

LLP & {HHeE & faff=1 =ror:
e LLP o UUMAES T Uadl whaW & LLP o 919 =y TRfEre =
® JTEAFH =t TREUT LLP 3F =H9Wra &F =T & ST a9T Ige==ET =hr it {2 m}
heliad {3 oF TOQ e-Form-1 WIgS <0HT gar &1

e AT =Y AT B °F ==, T -2 LLP =0 AW =9 oF f5T e-Form 2

LLP AT e ¢-Form 2 AUAfaa o w@fad LLP <F fH=oi, 9EiaRlAATasE 9EER oF
THTHEA faaoit, Tar ¥Er =% 3 fon s geafa = auEyr wr 2

o yfgfEan =t gt 23 & 31gEX LLP & se0d = frgr=gs atfard g 1)
LLP W OTE WigS HUEAT eIt 21

Answer 6:

(a)

®dT §RT SU—fIha a1 &7 & W99 (EFFECTS OF SUB-SALE OR PLEDGE BY
BUYER) SIRT —53 :— 3[&< fdddl &1 TEUMRIGR 37 AR #ATel b+ &7 SEABR el gRT
AT & 3T Ay a1 fvdl o= Mue™ g1 ywifad =1E) 8iar 98 59 Rigrd R SmuRd ©
% T SART T 3TU fashdr B el Nfde areed Rerfa # 721 &1 |wabar © (Qrfd wed wha
I g Refa & T8 S Foar ®)

Y 3re fadar &1 SWIF ARHR 71 T yarel & e B |

o\

(i) SO fawar 7 fapy, dg a1 Har gRT T & MY uem @ WAl & 8

(SUERT (1))
(i) S/ AT & W BT YU Hal bl SR (AT ST Gl B TAT ol - U AFfHRT Dl
gus EXdidRd fed 8 o qoa & foy Aqwreasr # J1ad &I @¥ieT &

Answer:

(b)

IR oTder AT, 1872 & ORT 73 H STy T & IR H Uaw fAar T | 6D |

AR ST IAJE 9 B &b BRI Yeb Uel Dl B B o I8 U&T 3T W P forg Q) vef
q Urpfdd wY A Al & AHG FagR B Aid Agee W B RO 8 drell BT+, S

T B THI Tl Tl B TSGR H ofl, U IR BT AHRY 8| $F  UBR B EoliT |

6|Page
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X B bl BRUGY rar Auchel ®Y A B dlel BN @ fory € R Sen| 39 aRT B |
TR H ST qarT 77 2 b 1 &7 19 o F9a S Al Bl &I | @ WY
ST ST W ¥ B arell g AT SR BT HH R AHd o | )
IWYe BT b RIgr B U H gel T 91 R AR dd g¢ M o o/gag 7 & |
PRI TGRS ©T F g ®. 1.25 A (F. 1275 — 1150 = &. 1.25) B &MY B 77 Be & [ 177 M)
fore <rlt 21 ]
oifeT ged gRT 9 oo @ I oM arel g1y & awe # Ry oW arel g @ i
39 e R R BRell ® 6 @ M for. @1 i ged g fifde ol o Sifer g Bt |,
& S el FATE B orge A SET o AR S off o M RE @1 wfa e grr| M)
ST g BT A S arel Bl &1 W) wRUTS Bl BT a=genm M for. Rl et R
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The Question Paper comprises of 5 questions of 10 marks each.
Question No. 7 is compulsory. Out of questions 8 to 11, attempt any three.

SECTION-B : BUSINESS CORRESPONDENCE & REPORTING (40 MARKS

Answer 7:
(@) (@ b/c
(i) C
(iii) a [{Each 1 Mark}
(iv) b
(v) d
Answer:

(b) Visual communication is effected through visual aids such as signs, typography, ]
drawing, graphic design, illustration, color and other electronic resources usually
reinforces written communication. It is a powerful medium to communicate. Thus 1 M}
print and audio-visual media makes effective use of adverts to convey their
message. Visuals like videos graphs, pie charts and other diagrammatic
presentations convey clearly and concisely a great deal of information.

Answer:
(¢ () d
(i) «c
(iii) By whom was this essay written?
(iv) Sheila exclaimed how smart Seema was.

{Each 1 Mark}

Answer 8:
(a) Memo

XYZ Consultants
32, Jai Hind Road
Nagpur, India {1 m}

Inter Office Memo

Date: 10" April, 2019
To: The all staff members From: HR department Reference : HR/Circular/2019/03 1M}

Subject: Dismissal of staff member

This is to inform that Mr. PQR, holding the position of Sales Head has been
suspended from his responsibilities due to multiple charges of misappropriation of
office funds against him. He is currently at large and avoiding police arrest. {3 M}
Staff is instructed to immediately report any information/clue about him to the
undersigned.

Answer:

(b) A communication network refers to the method and pattern used by members of an
organization to pass on information to other employees in the organization. Network
helps managers create various types of communication flow according to [{1 M}
requirement of the task at hand. Some companies have established and predefined
networks of communication for specified venture.
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Answer:
(o () a
(i) C

(iii) A pen is used by Rajesh to sketch figures. Each 1 Mark}

(i) Elders always say that if you work hard, you will succeed. (Universal truth)

Answer 9:
(a) Answer Hints for Article
. Both play an equally significant role
. Only physical fitness keeps the body in shape
. Six packs, abs, muscular body........ all look impressive but does running and
doing cardio {Any5
take care of the mind. Points
. Is it fine to be dumb in the head and have a strong, finely chiselled body? [ Each
. Mind is the hard drive of a human body. Data stored, collected, used etc. 1 Mark}
. An active mind ensures proper functioning of the whole system
. Quote like,” an empty mind is a devil’s workshop'.
. However, physical prowess and mental agility both have their own specific
and need based roles.
Answer:
(b) Various desirable characteristics of effective communication are: _
1. Clarity: Any spoken or written communication should state the purpose of

message clearly. The language should be simple. Sentences ought to be short
as the core message is lost in long, convoluted sentences. Each idea or point
must be explained in a separate bulleted points or paragraphs. Make it easy
for the reader to grasp the intent of the communiqué.

2. Conciseness: Brevity is the essence of business communication. No one has
the time to read long drawn out essays. Besides, the core content is lost in
elaborate details. Avoid using too many irrelevant words or adjectives, for
example, ‘you see’, ‘I mean to say’, etc. Ensure that there are no repetitions

3. Concreteness: The content of your communiqué should be tangible. Base it on
facts and figures. Abstract ideas and thoughts are liable to misinterpretation.
Make sure that there is just sufficient detail to support your case/ argument
and bring focus to the main message

Any 4
4, Coherence: Coherence in writing and speech refers to the logical bridge f’ori‘r‘:ts
between words, sentences, and paragraphs. Main ideas and meaning can be Each

ac

difficult for the reader to follow if the writer jumps from one idea to another [
and uses contradictory words to express himself. The key to coherence is 1/2
sequentially organized and logically presented information which is easily | Mark}
understood. All content under the topic should be relevant, interconnected
and present information in a flow.

5. Completeness: A complete communication conveys all facts and information
required by the recipient. It keeps in mind the receiver’s intellect and attitude
and conveys the message accordingly. A complete communication helps in
building the company’s reputation, aids in better decision making as all
relevant and required information is available with the receiver.

6. Courtesy: Courtesy implies that the sender is polite, considerate, respectful,
open and honest with the receiver. The sender of the message takes into
consideration the viewpoints and feelings of the receiver of the message.
Make sure nothing offensive or with hidden negative tone is included.

7. Listening for Understanding: We are bombarded by noise and sound in all our
waking hours. We *hear’ conversations, news, gossip and many other forms of |

9|Page
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speech all the time. However, most of it is not listened to carefully and]
therefore, not understood, partially understood or misunderstood. A good
listener does not only listen to the spoken words, but observes carefully the
nonverbal cues to understand the complete message. He absorbs the given
information, processes it, understands its context and meaning and to form
an accurate, reasoned, intelligent response.

The listener has to be objective, practical and in control of his emotions. Often
the understanding of a listener is coloured by his own emotions, judgments,
opinions, and reactions to what is being said. While listening for
understanding, we focus on the individual and his agenda. A perceptive
listener is able to satisfy a customer and suggest solutions as per the needs
of the client

8. Focus and Attention: Everyday work environment has multiple activities going |
on simultaneously. The ringing of the phone, an incoming email, or a number
of tasks requiring your attention, anxiety related to work, emotional distress
etc. can distract you. Such distractions are detrimental to the communication
process with an individual or a group of people. You may overlook or
completely miss important points or cues in the interaction. Thus, keeping
your focus and attention during the communiqué is imperative for effective
communication.

9. Emotional Awareness and Control: Emotional awareness is a necessary
element of good communication. While interacting with another person or a
group, it is important to understand the emotions you and he/ she/ they are
bringing to the discussion. Managing your own and others emotions and
communicating keeping in mind the emotional state of others helps in smooth
interaction and breakdown of the communication process.

Answer:
(c) () d
(i) We can do the work only by next week. {Each 1 Mark}

(iii) Teacher requested the children to use a blue pen for their homework.

Answer 10:

(a) Hazards of Passive Smoking (Title) }{1 M}

A lot of research and studies have concluded that second hand smoke, or passive}

. o X g i . {2 M}
smoking as it is commonly called is equally hazardous to health as is active smoking.
Consistent results show that passive smoking causes lung cancer; also a study brings

. ! es u }{z M}
out a link between parental smoking and damage in children.

Answer:

(b) A complete communication conveys all facts and information required by the
recipient. It keeps in mind the receiver’s intellect and attitude and conveys the
message accordingly. A complete communication helps in building the company’s ({1 M}
reputation, aids in better decision making as all relevant and required information is
available with the receiver.

Answer:

@ o ¢

i
(iii) An apology letter should be written by you. {Each 1 Mark}
(iv) Uncle complained that he was unwell.
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Answer 11: -
(a) Letter
Manager Operations and Admin 15" Feb, 2019
Net Solutions
Mumbai ,_{1 M}

Administration Head
Food for you Solutions
Mumbai

Dear Sir/Madam 1M
Sub: Complaint against food quality {1m}

This with reference to the food supplied to our cafeteria by your company’s kitchen.T]
Unfortunately, for the past few weeks, we have observed that the quality of food
items, especially rice, wheat flour and pulses has degraded considerably.

A few of our employees complained of ill health after having consumed your food. 1
presume stale food is not being sent to us. —{2 M}
Kindly assure that the raw material you use is of high quality standards and is ISI
approved.

I request you to look into this matter urgently and present a report within 2 days
time to avoid a stern action.

Thanks and Regards,

Name
Manager, Ops and Admin = {1 M}
Net Solutions

(Signed)
Manager, Office and food supplies Itd.

Answer:

(b)

Nonverbal communication is the process of communicating by sending and receiving
wordless messages. These messages can aid verbal communication, convey thoughts
and feelings contrary to the spoken words or express ideas and emotions on their | {1 m}
own. Some of the functions of nonverbal communication in humans are to
complement and illustrate, to reinforce and emphasize, to replace and substitute, to
control and regulate, and to contradict the denoted message

o Physical nonverbal communication: An individual’s body language that is, faC|aI
expressions, stance, gestures, tone of voice, touch, and other physical signals
constitute this type of communication. For example, leaning forward may mean
friendliness, acceptance and interest, while crossing arms can be interpreted as
antagonistic or defensive posture.

o Paralanguage: The way you say something, more than the actual words used, | {Any 2
reveal the intent of the message, The voice quality, intonation, pitch, stress, | Points
emotion, tone, and style of speaking, communicates approval, interest or the + Each
lack of it. 1/2

o Aesthetic communication: Art forms such as dancing, painting, sculptor, music Mark}
are also means of communication. They distinctly convey the ideas and
thoughts of the artist.

o Appearance: Appearance is usually the first thing noticed about a person. A
well dressed and groomed person is presumed to be organized and methodical,
whereas a sloppy or shabby person fails to make a favourable impression. ]

11| Page



MITTAL COMMERCECLASSES CA FOUNDATION- MOCK TEST

Therefore, dressing appropriately in all formal interactions is emphasized. The]
dress code in office is generally formal. It constitutes of formal suits, trousers
with plain white or light coloured shirts and leather shoes. Bright colours,
jeans, T - shirts, especially with slogans and other informal wear are frowned|
upon. For women formal two-piece trouser or skirt sets or formal ethnic wear
like sarees, is permissible.

o Symbols such as religious and status.
Answer:
() () ¢

(il) Women led a conservative lifestyle in olden days t{Each 1 Mark}
(iii)  The girl asked where I lived.

Xk
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